S IME QU]

OPERACI TOLAK DALAM LINCGLUNGAN 1000

(TANPA MENGUMPUL. CEMULA)
CONTOH 1 CONTOH 2
49 -24 =725 5064 - 291 =023
4 O 8 6 4
- 2 4 - 2 3 1
2 b 6 3 3
Soalan 1 Soalan 2
6D -5 = DG - 43 =
6 8 8 6
- 5 - 4 3
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MBI

/

SHY 5

Soalan 3

Soalan 4

245 4 =

419 - 6 =

RATUS

2

PULUH SA

4 5
4

RATUS PULUH SA

4 1 8
6

Soalan 5

Soalan é

155

~22=

256 - 34 =

RATUS PULUH SA

1

5 3
2 2

RATUS PULUH SA

3 5 6
3 4
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Soalan 7

450 - 26 =

RATUS PULUH SA

4 5 8
3 6

Soalan ¢

5995 425 =

RATUS PULUH SA

5 8 5
4 2 3

Soalan 8

526 - 115 =

RATUS PULUH SA

5 2 6
1 1 5

Soalan 10

249 - 336 =

RATUS PULUH SA

8 4 9
3 3 6
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